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4 (Sem-4/CBCS) HC 1/RC (CAC)
2024
COMMERCE
(Honours Core/Regular)
Paper : COM-HC-4016/COM-RC-4026
( Cost Accounting)

Full Marks : 80

Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer the following as directed : .
' ' 1x10=10
o SR were AT Tes @ ¢

(a) Cost accounting is a tool used by
management for

(Fill in the blank with appropriate word)

@ammmﬁqui‘aﬂﬁsmww
aRq ___ wiifEa |
' (GG 7T AT AT 999 79
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(b) Aggregate of direct costs is referred to

as cost.

(Fill in the blank with appropriate word)

AOF YR TN RS IS
(GG 3T AT} AT 99 )

(c) The difference between attendance time
and work time is known as

TR T S IS PEI WER meaW
el Tt T
() motion and rating
5ifS =% 2R
.'(ii)- time and work
T 9
(iii) motion and. time |
SIS SR T
(iv) job and work
IR W =

(Select the correct answer)

(1% Tewch! AR ClFe)
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(d) Abnormal loss of material is charged
to costing Profit and Loss Account.
(State whether the statement is true or
false)

ﬂmammﬁaw%hvmwrﬁf
cawmﬁmvf—w—wzm
(@@vﬁrmmwﬁw

(e) Idle time arises only when ‘workers are
' paid on _ basis of wages payments.
(Fill in the blank with appropriate word)

Hfiis fofer TgR amiv T AR Fwl
TS S =

- (Goe 9T T 312 979 1)
(f) Variable cost per unit remains constant.

(State whether the statement is true or
_ false)

AfRaSTIE T 2fS (T IR Z7 17 WS
(Cf&ehr 7o (7 opTey fardh)

(g) Contract costing is also known as
Pofefer Teimm e Tml IW

(i) process costing

oiferiste Tesive T 2pite!
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(i) terminal costing

fefefes Sesiim I Zpiel
(i) job costing |
- e Tesilm 5 fRpIs
(iv) batch costing |
TS TesAw I Zowe
(Select the correct answer)
(1% Cech! AR Cleradr)

(h) In job costing, the cost of an incomplete
job is termed as

.

wiRfe Belrm aRre, ST T GO
W LR A E

- (Fill in the blank with appropriate word)
(B& %7 AT AT 979 F0)

(i Overtime work is to be paid for at
the normal rate.

oS o "

(Fill in the blank with appropriate word)
(BT 3T N} T 979 W)
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() What is notional profit ? |

gRofefes are & ¢

2. Answer the following questions : 2x5=10
CEICAEE GIEE AT AT I
(a¢) What is unit cost?
(NG T WA [ 2

(b) Write two benefits of time and motion

study.
W R oS SHRwE 757 FRar 1|

(c). What is meant by semi-variable

overhead ?

| o -oiReEE TeifEs I N R g 2

(d) Write two features of contract costing.

ol Seotr 77 G e

(e) State the meaning of overtime.

ofeRe s o fot |
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3. Answer any four of the following questions :
' 5x4=20

o Ml eMEIRT R sifsbre e il o

" (@) Mention five benefits of cost accounting.
Tesime T RoreraeT Alipsr ARa B

(b) From the following information, prepare
a cost sheet showing cost per unit and
profit for the month of January, 2024 :

oo Rl SAPTEA #[, 2l (oI5 Best
i GRRIST 2024 W @S iR R 9
e IREH! dF© 9 ¢

Raw materials consumed 3 80,000
B ANTR IR |
Direct wages ¥ 48,000

T R

Machine hour worked 8,000 hours

Machine hour rate ¥ 4 per hour
NP I ARAE 7 ,

Office overhead 10% of works cost
Selling overhead per unit T15

et 57 afe oilte

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 6



Units produced 4,000 units

5 TeAlwS (oll _
Units sold 3,600 units @ ¥ 50 each
15 R

(c) FolloWing' information, relating to a type
of raw material, is available: 3+2=5

o7 Rl SUFPR G (R (51 AT TS
Tfow ¢ '

Annual demand - 6400 units

AR vifkw

Unit cost T6
(55 Testive H |

Carrying cost 25% of unit _cdst
TGO |

Procurement cost ¥ 75 per order

LR R

Calculate EOQ and number of orders .
per annum.

EOQ F=fe 7=, Em—zﬂﬁ’zﬁ TR ST TR
R =1
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(d) Explain briefly the needs of labour cost
control.

= T PR SISO IR S0E A0 <51 |

| (e) Write. five features of overhead cost.

ToifRe g #Apoy ey e

(f) Write five differences between job
costing and contract costing.
Fiefes Tesiie W o1 Dfefes Teotm e
TeR S Ay |

4. Answer any four of the following questions :
10x4=40

wﬁmm«mmwm

(@) Explain the factors to be considered
for installation of a costing system.

TeoA T wfS efed IT g [l 11
TAMIPTIR 17 3 |

(b) Explain ‘maximum level’, ‘minimum
level’ and ‘re-ordering level’ of materials,
stock maintained in an organisation.

GO! efSHITR AN TgeTTR D T
R T O ST B9 T R
|
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(c)

North-East Manufacturing Company uses

rubber, which is purchased according to
_requirement, from the market. Following

purchases and issues were made during
the month of March, 2024 :

3R GREREIRR FRCCe Ao Sl <"
ISR A IFYT AR T | GO 2024
5 Wb WS P T oS [ferrg fa 2e 8

March 1
March 3
March 4

March 7

March 8

March 15

March 18

Opening stock 2000kg@ ¥ 5 each
(SR STEo)

Issued 1500 kg
(Rier).

Purchased 4500kg @ ¥ 6 each
()

Issued 1600 kg
(k) '
Return by production 100 kg
department

(Issued on March, 3)

. Teoiv [eR YRt (@1

(3 Wb [irFe)

Purchased 2400 units @ 6-50 each
(&)

Return to supplier 200 units
(Purchased on March, 4)

(ARSI (FR)
(4 H© T )
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March 24 : Purchased 1,000 units @ ¥ 7 each

(¥9)

March 26 : Issued ' 2100 units’

(Rfer) -

March 27 : Purchased 1200 units @ ¥ 7-50 each

()

March 31 : Issued 2800 units

(d)

(e)

(=)

From the above information prepare
Storage Ledger by applying FIFO method.

e SAPTRI [l FIFO *1&f% e
HAPAE TGO WA 2 gs 1 |

What is meant by labour turnover ?
What would be possible effects of labour
turnover on the cost of production ?
Explain. 2+8=10

Wi e WE & gul ¢ @i SRSy were
T (TS (I 4999 FBR] oo i1 2@
OIF [ |

Following are the information related

to earning of a worker for a week:

weTe Al STYE IEW AR I AR Toleas
IS TS

Weekly working time - 48 hours
AT FF AT _
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Hourly wage rate - ¥ 7-50

TR T ofS IBre

‘Rate per unit 7 3-00
oS (oo 2

Normal time taken 24 minutes
per unit

ofs ﬁﬁﬁf@aﬂﬁﬁ%!ﬂ‘ﬁ%ﬁvﬁm

Normal output per week 120 units

Ao Froiis TeAmaE IS

Actual output per. week 150 units

(oS AR 4TS TAWA)

Calculate the earning of the worker for
a week under —

oo il 40l AT O AYRE TR e
48 '

(i) straight price rate
A o7 YO

(i)  Halsay premium scheme
o esiRfe S TS

(iii) Rowan premium scheme

@& esiRie vl Sre
2+4+4=10
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() What is meant by machine hour rate ?
Mention the steps required to compute

machine hour rate. 2+8=10

TR T T A g 2 qES T g
SO STAGAIT AMCFTR Gl 1 |

(g) A product passes through two processes.

» The output of process I becomes the
input of process III and the output of
process II is transferred to warehouse.

The quantity of raw materials introduced

in to process I is 20,000 kg. The cost

and output data for the month of

January 2024, review as under:

51 Tesifre ARG o1 Tesiv AfFTR NiteE
Ao 2| 244N TeAAlne AfEAiT o[l e 9
Terifrs AR SR GeoAH eifErars &1 At
2R IER = Oi%: faoln AfermieaEl Sestfre
A 21 TGO ST T I 2 | AL
AfFIorS (&6l T 7R 20,000 R[FEiaN
AN G [ (2T | 4T W oA 92y
©5T® 2024 TG GIEIK MO o[ (I & 8
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Process 1 Process 1l

Direct materials ¥ 60,000 7 40,000
fer® A

Direct labour ¥ 40,000 7 30,000
oFF W |

Production overhead ¥ 39,000 ~ ¥ 40,250
Yt Tz |

Normal loss 8% 5%
FeiikE wfo

Output 18,000kg .17,400kg
Tl '

Loss realisation ¥ 2 per unit’ ¥ 3 per unit
HOPH

"The company fixes selling price on end
product at a margine of 20% on cost. Prepare
the Process Account and determine the

selling price per unit.

@A 20% 7 BeA IRF @91 iR IS
R o0 Tesiifire AR @oRe 41 3 | Afer fotel
oFS T TS AfS (oI5 Rern Fow e 1 |
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(h) Following are the summary of
_transactions obtained from the costing
records of Sri Ram India Limited :

woTe S B FRCETR Seriim a9 T
ENmTTRR R efle o2y Al == ¢
Purchase % 2,00,000
&q
Production wages paid . ¥ 70,000
TeAVH TR AW
Stock issued to production order ¥ 80,000

AR AT AT R

Works expenses charged
to production . 745,000

T TR ReiSice

Finished goods transferred
from production orders ¥2,22,000

Tl SIGIR #IR1 RIS A ZIE

Administrative expense charged

to production ¥ 15,000
Teome ReRite emifRe I Faisd

Work expenses outstanding ¥12,100
T2me 3 A ’
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Work expenses paid ¥ 25,000
= I 2w

Pass Journal entries for the above
transaction under integral system of

accounting.
BT (FRPTIR 7152 [Rp1oiet “iafoe Siaml

IRe Fifsim =11
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